BT TRIA O - HEHHEE X T 3;5219&04)% KIRHE
- I:I - 3 I:I
X 73,669 158,901 75,714 83,187 [E;ZEFILAT4AT 742 1,853 869 984
E 4619 9,901 4,569 5,332
BEKET1T 870 1,854 895 959 |ER EEFZHT2T 1,413 3,277 1,559 1,718
BEKET2T 364 818 388 430 5 1,413 3,277 1,559 1,718
B 1,234 2,672 1,283 1,389 |[R=E~ EB1T 68 199 87 112
4 T 8,694 20,969 9,957 11,012 |[H=E~EB2T 278 556 267 289
Lt RER1T 360 561 289 272 |R=E~ ERI3T 458 1,052 503 549
Tt RERT2T 241 430 201 229 |R=E~ ERT4T 206 410 188 222
Lt RER3T 266 468 247 221 |R=E~ ER/I5T 370 685 354 331
Lt RERT4T 163 208 146 152 5| 1,380 2,902 1,399 1,503
Lt RERST 140 290 148 142 | KSIRBT1T 762 1,668 795 873
Tt ERERGT 96 223 111 112 | KEZFET2T 912 1,934 924 1,010
TtERER7T 75 163 74 89 5| 1674 3,602 1,719 1,883
Tt ERERST 131 212 103 109 | RERTT 78 180 80 100
g 1,472 2,645 1,319 1,326 [ RERT2T 148 332 167 165
tfEBET1T 259 547 261 286 (B RERI3T 373 860 383 477
tfEBET2T 1,152 2,565 1,202 1,363 |FARERT4T 278 489 192 297
tfEBET3T 1,006 1,876 924 952 (BB RERIST 142 316 148 168
tfEBET4T 913 2,075 1,035 1,040 | 1,019 2177 970 1,207
g 3,330 7,063 3,422 3,641 |FA{EAMET 2,187 4915 2,425 2,490
ERAET1T 634 1,556 776 780 | = AHT 250 459 233 226
ERATET2T 354 847 403 444 |BEEEFRMET1TT 249 488 229 259
ERATETST 351 816 386 430 |BEE ERMET2T 532 1,080 521 559
g 1,339 3,219 1,565 1,654 (BEEFRMAETST 711 1,536 723 813
==Yl 1,014 2,167 1,046 1,121 (BEEHRMET4T 650 1,294 646 648
HEWEET 255 495 223 272 |BEEERMETST 696 1,647 793 854
HERE2T 412 710 318 392 5| 2,838 6,045 2,912 3,133
HEWREIIT 259 473 239 234 | BEEMILAT1T 226 382 173 209
HEWE4AT 136 296 134 162 |BEE EHBILAT2T 463 942 453 489
B 1,062 1,974 914 1,060 | B & B#EILEI3T 529 1,097 532 565
HEREET 1,659 3,167 1,404 1,763 | B#EILET4T 613 1,293 613 680
HEREET2T 2,892 6,115 2,887 3228 |BEEMBILATST 740 1,699 821 878
HEFETST 3,031 5,911 2,630 3,281 B 2,571 5413 2,592 2,821
HEFETAT 2,104 4,003 1,770 2233 |EEBHEET1T 1,036 1,977 962 1,015
HEREEIST 1,270 2,702 1,299 1,403 (B EBiBAT2T 151 319 166 153
£t| 10956 21,898 9,990 11,908 [BEEBE#AT3T 2,195 4,468 2,177 2,291
HUEET1T 782 2,160 1,054 1,106 B 3,382 6,764 3,305 3,459
HYERT2T 535 1,335 654 681 |[BEERZET1T 640 1,401 653 748
g 1,317 3,495 1,708 1,787 (BB BHEZET2T 474 1,000 475 525
MEET 437 962 480 482 | BEERZEI3T 329 773 372 401
EET2T 342 834 403 431 B 1,443 3,174 1,500 1,674
g 779 1,796 883 93 |BEEEARETTT 642 1,306 647 659
WHAEET1T 737 1,878 902 976 |EEEARET2T 257 590 286 304
WHEEET2T 202 456 219 237 |BEEEARETST 1,022 2,641 1,292 1,349
RT3 T 723 1,571 798 773 B 1,921 4537 2,225 2,312
g 1,662 3,905 1,919 1,986 (B EBMEREET1T 307 701 344 357
RKEIRAT 5717 12,846 6,176 6,670 |BE BMEmMAT2T 222 465 227 238
hRERTT 283 544 255 289 |BEE EEmBET3T 602 1,296 647 649
hRER2T 204 368 163 205 g 1,131 2,462 1,218 1,244
hRERST 224 484 241 243 |J\TFdt 95 201 93 108
hRERT4T 271 525 252 273
B 982 1,921 911 1,010
o A BT 602 1,275 629 646
hEEEET1T 595 1,267 590 677
hEEEET2T 789 1,317 615 702
hEEEETST 457 1,141 536 605
hEEEET4T 729 1,450 710 740
hEEEEST 846 1,697 819 878
hEEEET6T 3,297 6,208 2,947 3,261
5| 6,713 13,080 6,217 6,863
P =T 873 2,147 1,056 1,091
BAFBILETTT 1,052 2,207 1,057 1,150
BXEFILET2T 971 2,220 1,087 1,133
BEAEFILAIST 1,854 3,621 1,556 2,065
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